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BASED ON N.C.E.R.T PATTERN  : 

CH  - 3 

Study  the  example and solve the following  

• Example :— write the following in Hindu 

‐ Arabic numeral . 

a. XLV      b. XCIX     c. CDXC  

Solution :   

 XLV = XL + V=40+5 = 45 

             XCIX = XC+IX = 90+9 = 9 

                CDXC = CD + XC = 400+ 90 

=490 .  

1. Complete  

a. CDLV= 500 – _____ + ____ = 

____ 

b. CCXXI = _____ + 20 + ____ = 

____ 

c.  XIV = 10 + ____ = _____  

d.  CXL = ___ + _____ = _____ 

 



2.  Which of the following numerals are 

meaningless?  

a.  IXIV  

b.  CCCI 

c.  ICC  

d.  CIC  

e. CMXIV 

f.  MC  

g. DM  

h.  MXXVII 

i.  LCXVI  

 

 

 

 

 

 


